ITEM
NO. | PART NUMBER

DESCRIPTION

-01_
/QTY

02_
/QTY

DX0824-010 Magnet Switch Assembly
724-01C Screw - 3/8-16 X 1" socket set screw w/nylon Gp
DF1246-01Z 1024 X 1 1/2 FL HD SOC CS ZINC
DF1152-01C 1/4-20 X 5/8" LHSCS - Black
F1017-012 SCREW - 10-24 X 3/8 PHL PNH MS ZINC
F0983-01Z 10-24 Steel Open End Flanged Rivaut
DF0862-01C 10-24 X 1/2 PHILLIPS FLAT HEAD SCREW BLACK
DFO711-00Z 10-24 X 3/4 Phillips Flat Head Sheet Metal screw
FO467-00Z 10-24 X 5/8 SOC HD FLAR HEAD SCREW ZINC
DFO0113-010 LIMIT ARM SCREW
DE0152-120 Weatherstrip - SK27159 (15.9mm)
DE0152-120 Weatherstrip - SK27159 (15.9mm)
DEOI51-120 Weatherstrip - SK27134 (13.4 mm]
DC2788-030 Door Panel Floor Sweep
17 _)C|897702, SO Interlock Rail Narrow Style - RH -
DCT897-01_ SO Interlock Rail Narrow Style - LH T =
18 | DCI89601_ O Pivot Stile 1 T
19 -01_ SO Bottom Rail - LH 1 -
DC 7-02_ SO Bottom Rail - RH - 1
0 C1696-01_ SO TOP RAIL - LH T -
DC1696-02_ SO TOP RAIL - RH -
21 DC 9-01Z SO Arm mounting block
22 4-010 SO Pivot shaft-Combo
23 | DC0962-020 Limit Arm - 250mm
24 C0909-01Z SO Arm mounting block - Top
25 C0908-02Z SO Top Latch Spacer Block - 1/4"
26 C0843-010 Timit Arm Bushing
27 DCO835-01Z ESA300 Interlock Clip
28 | DC0146-010 Spring Detent Latch Assembly
29 | DS0910-010 SO Bottom Latch Assembly side panel
30 DC0556-020 Shear Block, Bottom - 3.555"
31 | DC0555-020 Shear Block, Bottom - 4.783"

°
=

-01_ Left Hand SO Panel

Sheet 1 of 3|




